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Activity 2041. Design Real Use Case

Use case 1. Display Child Mode

Actor Child

Purpose OlO|ZEE 2[2 UIE HMSetrt
Overview -

Type Primary and Essential

Cross Reference

System Functions: R1, R3

Use case: Receive Message

Pre-Requisites

N/S

Typical Courses of Events

(A): Actor, (S): System

1. (A: AEX7} 7|EE 'CE YL}
2. (S): Child Mode Ul & Z&3gtct,
3. (S): invoke 'Receive Message’

Alternative Courses of Events

Exceptional Courses of Events

Use case 2. Display Parent Mode

Actor Parent

Purpose FEREE feh UIE MSTHt

Overview Delete button, Add button 2 disable &FE{O|C}.
Type Primary and Essential

Cross Reference

System Functions: R.2, R.5

Use case: Show List

Pre-Requisites N/S

Typical Courses of Events (A): Actor, (S): System
1. (A AEXZE 7|1EE 'P'E YHH
2. (S): Parent Mode Ul & Z#3HCt
3. (S): invoke ‘Show List’

Alternative Courses of Events

Exceptional Courses of Events




Use case 3. Receive Message

Actor None

Purpose CiotE ddstn S0t
Overview -

Type Primary and Essential

Cross Reference

System Functions: R.1, R.3, R4, R.8
Use case: Display Child Mode, Send Message, Display Sound

Pre-Requisites

AFEXEZ} Child mode O X S0{2ALL ALEAZL 2 ZHAES
M 2% =k

Typical Courses of Events

1. (S): HE ddotct

2. (S): HE HIESZ DB oA
[F8. 28 B 22 23.00l. = 22|.0[01 X1 &40 msg O
Moot

3. (S:msg ol [ZA]7F EHOlrEY E%
[EX|.Cto].£.0[0|X1E LIS M0 =3I
4. (S): msg 2| [EA17t THO{ R
[THI H1Z ZSH0| ==t
5. (S 22| HES ZEY Ho| =D msg
X

o [&EN1E

ZHapAlO 2

L |

M
o

Alternative Courses of Events

Exceptional Courses of Events

Use case 4. Send Message

Actor Child

Purpose CHztof CHot CHENS StCt.
Overview -

Type Primary and Essential

Cross Reference

System Functions: R.3, R4, R.8

Use case: Receive Message, Display Sound

Pre-Requisites

receiveMsg()7t A= =, Send HHEO| 2/ d3t =ICt

Typical Courses of Events

(A): Actor, (S): System
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M wn o=

Mot

(S): buffer & ZE M0 E33iC
(S): buffer 2t msg 2| [E0]
(S): buffer 7t msg 2| [E1at &
[H2]E TS0 ==tct
(S): buffer 7t msg 2| [Et CHE B2
(B, ©3]12 LSM0| =it

(
(
(
(

v

>||:|F

9.
10.
11. (S):
12. (S):

S):
A):

Invoke 'Display Sound’ use case.
Che A= "o{7h7| 28 AEH7|E FEL
B EE =75k A7

]

= =

=~ =

Invoke 'Receive Message' use case.

Alternative Courses of Events

Line 3: (A): AHEXL7L FE 77 HES SFECLL
(S): Textbox 2| L{EEZ X212 E7| HES Enable A|ZIC}

Exceptional Courses of Events

Use case 5. Show List

Actor None

Purpose MEE[O U= HOES EoEL)
Overview -

Type Primary and Essential

Cross Reference

System Functions: R.2, R.5, R7.1, R.7.2
Use case: Display Parent Mode, Delete Word, Add Word

Pre-Requisites

AFEXEZE Parent Mode £ AMSHAHLE Add HE, Delete HHES
WS W MIM=ICEH

Typical Courses of Events

(A): Actor, (S): System
1. (S): DB OfA ErOf Hojet St F=E3H word 2
mean O ZtZF M7 otCt.
2. (S): word 2 table 2 3t =4 Table 2 ZHoHC}
3. (S:1-28 DBOIAM L} 2 Wi7tX| BH=ESHCt,

Alternative Courses of Events

Line 1: DB O] LH&0| 22 42 Yl Table 2 =TI}

Exceptional Courses of Events

o
Z0| oe|AS ZR, DB oM EHOIE gloj2 =

Line 1: DB Of ¢
ol 4% 93 H2 =it

(6, ]




Use case 6. Find Word
Actor Parent
Purpose thojo X, a2l A8E H=Ch
Overview -
Type Primary and Essential
Cross Reference System Functions: R.6
Use case:
Pre-Requisites N/S

Typical Courses of Events

(A): Actor, (S): System
1. (A: AHEXIZE FO| CHO{E Ydstn 7| HES FELCL
2. (S): Text Box 2| &XtEE buffer Of &L}
3. (S): buffer & DB O|A ZOFM [EHO. 5. A2|.0|0(X1E
word 0f X &t f
4. (S): word 2| [EHO].52.0|0X1E Hei Tl S0 =t
(S): &2 HES &35t word 2| [&2[1E

UsersoundStrOH SESgeldu )

6. (S): add H{E Disable, delete HE2 Enable 2 HHEL}
Alternative Courses of Events | (A): Actor, ( ): System

1. (A): AFERIZF ol B E 28sta 37| HES +Er

2. (S): Text Box 2| ZAFEE buffer 0| X etet.

3. (S): buffer 7} DB Of @& &% UIOIH Hap AFEOIM

[THO.5512 &0t word Off Zt2Zf X &Lt

4. (S) word 2| [EH0].55]8 T S0l E3Hct.

5. (S): add H{E2 Enable, delete H{E2 Disable 2 HHELCH
Exceptional Courses of Events | Line 3: DB 9f HojHo| eIt Qs 49 28 &S "LRLt

Use case 7. Add Word

Actor Parent

Purpose 32 CHOlE CHOj O F7hotct
Overview -

Type Primary and Essential

Cross Reference

System Functions: R.5, R.6, R.7.1
Use case: Find Word, Show List

Pre-Requisites

At

A& X7} THO1Z7t U|OfH HHfAREOIM 2 Zup &

ox

I—J
40
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Add H-E0| gds} &t

Typical Courses of Events

(A): Actor, (S): System
1. (A:Add HES
2. (S):word 2| [EFO]. ]2 DB Ol AMFHCt
3. (S): Invoke ‘Show List’

+ELt

Alternative Courses of Events

Exceptional Courses of Events | DB O THO{E K& = Qi 4% 8 ¥ Z2Ch
Use case 8. Delete Word
Actor Parent
Purpose CHOIZEO| EFO{E AfA|IBHTt
Overview -
Type Primary and Essential
Cross Reference System Functions: R.5, R.7.2
Use case: Show List
Pre-Requisites AM&ALZL dAish £Hoj7F DB oA &2 AW BLR, Delete

HEO| gzt FL.

Typical Courses of Events

Alternative Courses of Events

Exceptional Courses of Events

(A): Actor, (S): System
1. (A): delete HES FECLCt
2. (S):word 2| [EHO{]2 DBOIAM &1 i E2 AfKBHCE
3. (S): Invoke ‘Show List’

DBOIAM ST EHOIE &S = QS 4% 28 S =20

Use case 9. Display Sound
Actor All Users

Purpose AB|E EHSCH
Overview -

Type Primary and Essential

Cross Reference

System Functions: R.3, R4, R.8

Use case: Send Message, Receive Message

Pre-Requisites

N/S

Typical Courses of Events

(A): Actor, (S): System
(A): ALEXPF E7| HEZ FELCL
(S): User.soundStr Off K& E0f U=

BROM 225 =

r

_Q_I-
M
._'_

7




Alternative Courses of Events

(S): Send Message, Receive Message Of| A
S): QIXIE 22 F=0|M AE|E =St

M| ZICt

Exceptional Courses of Events

Use case 10. Display Main
Actor All User
Purpose AHEXLZL ofo|RE/R2 R R EE MENSH o~ IO}
Overview -
Type Primary and Essential
Cross Reference System Functions: R.9
Use case:
Pre-Requisites N/S
Typical Courses of Events (A): Actor, (S): System
1. (A MAEAZE Z27s AT,
2. (S): Child AHE dEstD init & AT,
3. (S): Parent M| S A-FStL init & HAHTHCL
4. (S): OfO|REQI RREHEES 'Cet P2 WHYE £+ A=
Ul g =2ct
Alternative Courses of Events | (A): Actor, (S): System
1. (A AAEAZE Helez ZO0t7t7| S A Eotr)
2. (S AdEQ REo| N YHE "h=rt
3. (O AM EZ dEFQ ZEo HE Herf
4. (S): OfO|REQ} HERpEZE 'C'ot P2 MEG = &

Exceptional Courses of Events




Activity 2042. Define Ul
- Main

()

TalKids

1 2
Ol 2= 58 2c

a. Child Button
b. Parent Button




Child Mode

) o = =2
L >HoIeR
» B Q\ ==k

‘-G;Dl‘: What is This? —

j = .tV ARFLION 5

LION

y B A

HF Good jobt! i @
M Enter

| —— >

a. Back Main Button
b. Question Field

c. Sound Button

d. Answer Field

e. Re-Answer Field
f. Enter Button

g. Clear Button

h.1. Answer1 Button
h.2. Answer2 Button
h.3. Answer3 Button
h.4. Answer4 Button
i. Show Answer Field

j- Image Word Field

10



Parent Mode

|
n =
L& | oll@|=
l >HCR
Word Meaning g
g—> Lion AFXE A LION »
i T
&P €
[
2cl
Add to List Delete
e.l el
v

a. Back Main Button
b. find Button

c. Image Field

d. Sound Button
e.1. Add Button

e.2. Delete Button
f. Word Field

g. List Field

11




Activity 2043. Refine System Architecture

L
Package
Word Interface
-word: String -word: Word
-mean: String -msg: Message
User -sound: String flag: int

-str: String -image: String #Database: db
-soundPath: String +getWord(): String +displayMain(): void
+getStr(): String +setWord(String word): void +displayCI(): void
+setStr(String str): void +getMean(): String +displayPM(): void : ' ,
+displaySound|): void +setMean(String): void +setWordMsg(String path, String word, String mean): void
+getSoundPath(): String +getSound(): String ) +sendMsg(): void ) ,
+setSoundPath(String soundPath): void | | +setSound(String sound): void +displayMsg(String message, int type): void

+getlmage(): String +displaySelection(String str1, String str2, String str3): void

+setimage(String image): void +displaySelection(String str1, String str2, String str3, String strd): void

T +cancelMsg(): void
i Child +findWord(): void

-type: String +displayS(): void
-image: String -msg: Message +displayWord(): void
-sound: String -db: Database +deleteWord(): void
-word: String +receiveMsg(): Message +addWord(): void
-mean: Strin i - +goNext(): void
-answer: Stri%g *elieckMsotSiring hofery Soing +displayError(String str): void
-reRight: String
-relWrong: String Parent
-question: String Databisse o Word

+getType(): String

+setType(String type): void
+getimage(): String
+setlmage(String image): void
+getSound(): String
+setSound(String sound): void
+getWord(): String
+setWord(String word): void
+getMean(): String
+sethean(String mean): void
+getAnswer(): String
+setAnswer(String answer): void
+getReRight(): String
+setReRight(String reRight): void
+getReWrong(): String
+setReWrong(String reWrong): void
+getQuestion(): String
+setQuestion(String question): void

-jedis: Jedis

-db: Database

+setMsg(Message msg): Message

+insertWord(Word w): boolean
+delWord(String word): boolean
+showlist(): String[][]

+searchByWord(String str, Word w): Word

+indWM(String buffer): Word
+indNaver(String buffer): boolean
+deleteFromDB(Word w): boolean
+addtoList(Word word): boolean

12




Activity 2044. Define Interaction Diagrams
- Display Child Mode

% Interface User Child Message Database

Lifeline1: Child :
1 - void = displayCM(void)_ !
L| 2 - void = showCM_UI

3 - void = goNext(void) |

5 - void = setMsg(Messége msg)

[ 4 - void = recieveMsg(void)

|

6 - String = getQuestian(vg‘d%

| seq if msg is null ) | <

8 - void = showError("DB ErJnJ;

7 2 void = displayE'rror(String str)

9 - String = getQuestion(vbid)
|10 - void = displayMsg(String message, inf type)

/

Y
R R [ ——

seq Iftype is 1
M—) 11 : String = getType(void)

12 : String = getlmage(void) o
13 - String = getWord(voitl) L
14 - String = getMean(voiéi) o

I 15 - void = setWordr\hsg(String path, String yord. String mean)

16 - String = getSound(joid)
17 - void = setSoundPatﬁ(String soundPath)

Ll 18 : void = showMessage I_J

19 - String = getAnvar void)

...

/

[If. 3 multiple choicds]

20 : void = displaySelection(String str1. $tring str2, String str3)

==

[If. 4 multiple choicas] :
21 - void = displaySplection(String str1, $trjng str2, String str3, String str4);

seq if type is 2 ) 22 - String = checkMsg(String buffer)

; I 23 - void = dispIayMEsg(String message. intjtype)

LI24 - void = showMessage

[if type is 3]

UEs - void = showMessage LJ

13



- Display Parent Mode

getWord(void)
getMean(void)

Word
U‘ 3 : String
Lr 4 - String

R

Lifeline1

c
o =
= et S e e e e P =
©
o 2
] =4
=]
[
g
o
£
w
>
o
Q.
]
© —
1] [
] 2}
= i
VF. £
@ o e
Q w =
- ——3
2 = P
= M_ E &
= 3
o o » ©
2l H = =
- 2 £ =]
Ql = el =
° ® @ W
B [ _m =
-
c n B @ 2
[ = Q < @
= =3 2 w=
© g i i 1
a Lo
e =

Database
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- Send Message

% Interface User Child Message Database

Lifeline1: Child

1 : void = SendMsg(void)

} - void = displayMISQ(String question. it type)

seq Iftype is 1 ) [J

3 - Siring = getType(void) !

4 St'rinq = qetlmaqe(void)f

6 - String = getMean(void)!

5: Stiring = getWord(void)i _|

7 - void = setWordMsg(String path. String word, String meian)

[ 8: St}ing = getSound(void) =
9 - void = setSoundPath(String soundPath) ! U

10 : void = showMessage ' U

11 - String = getAnswer(void) .

[if. 3 multiple chbices] : T
12 : void = displaySelection(String strl, String str2, String str3)

[If. 4 multiple chbices] :
13 - void = displalySelection(String stril, String str2, String str3, String str4)

T ;-..-..-...-.....................-......-

seq if type is 2 )
| v 14 - String = checkMsg(String buffer)

; I 15 - void = displa:yMsg(String messagée, int type)

LJ‘16 - void = showMessage

[if type is 3]
LI 17 - void = showMessage “

15



- Display Sound

% Interface User

Lifeline1: User
[if press 's]
1:void = displayS(void).

2 - void = displaySound(void‘
U‘3 - void = playSound(void)

[if Sound is null] 4 - void = displayError({String str);

|

.

5 - void = showError("4-2| IILE &S 4 §IELICE")

16



Find Word

2 = = ]

Lifeline1: Parent

- void = findWord{void),, |

! 2 - Word = find\&/M(String buffer) : :
J 3 : Word = searchByWord(String word) _
seq If DB not has its word )
LI‘ 4 - void = setWord(null)
LI‘ 5 - void = setMean(null)
LI‘ 6 - void = setimage(null)
seq input is English
: ; 7 _ String = getWord(void) . ! :
' ’ I :
seq if getWord is null
seq if findNaver is false )
8 - boolean = findNaver(String buffef)
seq.if.getWord s not.null ) 9 : String = getSoundivoid)
s | J z
seq input is Korean
: : 10 - String = getWord{void) ! :
! H t H
seq if getWord is not null_J 11 : Sring = getSound(void)
seq if getWord is null )
: [ i12 cvoid = displayErrorQ'String str)
13 : void = showError("Z{ % ZDI2H S SLICE")
if getWord is not nul : : 5 :
T ; ; ;
: [ 15 - void = displayWord{void) : : :
| |16 - void = updateUl{void)
5 17 - String][) = showist(void) ! :
: : U‘ 18 - String = getWord{void)
Lr 19 - String = getMean(Word) -
seq if newTable is null ) H
r 0 : void = displayErrorl{:String str)
Lj ! | z i
21 : void = showError("Can not find the LIST")
seq if newTable is not null J
22 - void = updateUl(void)

17



Add Word

R

Lifeline1: Parent

Interface Parent

1 - void = addWord(void)

2 - boolean = addtoList(\Alofrd word)

Word

Database

'U 3 : boolean = insertWord(Wor

d word)

seqllf cannot save word in DB ) I 5 - void = displayErroé(String str)

L_r 6 : void = showError("DB E

=

or")

7 - String[][] = showList(vaid)

A

A

;

4 : String = getWord(void)

seq If DB cannot find from the list )

10 : void = displayErrgr(String str)

Delete Word

x

Lifeline1: Parent

EE String = getWord(void)

Lr 9 : String = getMean(void)

Interface

Parent

Word

1 : void = deleteWord{void)

—

D - boolean = deleteFromDB(Word ¥

seq if no word in DB J
[ 3 - void = displayError(String str)

4 : String[][] = showList(void)

Database

seq if List cannot be found )

7 - void = displayError(String str)

18
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LI‘S - String = getWord(void)

Lre : String = getMean(void)




- Display Main

R

Lifeline1: User

Interface

[if start program]

1:void = displayMain(void).

—

2 - void = ShowMain_UI

[if chosen from CM if press 'b]
3 : void = displayMain(void)

\

[i

4 - void = ShowMain_UlI

1]

chosen from PM if press Go Maln]
5 - void = displayMain(void)

=g mme D e e e

A

6 : void = ShowMain_UlI
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Activity 2045. Define Design Class Diagrams

User

-str: String
-soundPath: String

+getStr(): String

+setStr(String str): void
+displaySound(): void
+getSoundPath(): String
+setSoundPath(String soundPath): void

s I

Child

Parent

-msg: Message
-db: Database

+word: Word
-db: Database

+receiveMsg(): Message
+checkMsg(String buffer): String

+indWM(String buffer): Word
+findNaver(String buffer): boolean
+deleteFromDB(Word w): boolean
+addtoList(Word word): boolean

Message

type: String
-image: String
-sound: String

-word: String

Interface

-mean: String
-answer: String
-reRight: String
-reWrong: String
-question: String

+getType(): String
+setType(String type): void
+getimage(): String
+setimage(String image): void
+getSound(): String
+setSound(String sound): void
+getWord(): String
+setWord(String word): void
+getMean(): String
+sethMean(String mean): void
+getAnswer(): String
+setAnswer(String answer): void
+getReRight(): String
+setReRight(String reRight): void
+getReWrong(): String

-word: Word
-msg: Message
flag: int
#Database: db

Word

-word: String

-mean: String
-sound: String
-image: String

+getWord(): String
+setWord(String word): void
+getMean(): String
+setMean(String): void
+getSound(): String
+setSound(String sound): void
+getimage(): String
+setimage(String image): void

Database

+displayMain(): void

+displayCM(): void

+displayPM(): void

+setWordMsg(String path, String word, String mean): void
+sendMsg(): void

+displayMsg(String message, int type): void
+displaySelection(String str1, String str2, String str3): void
+displaySelection(String str1, String str2, String str3, String strd): void
+cancelMsg(): void

+indWord(): void

+displayS(): void

+displayWord(): void

+deleteWord(): void

+addWord(): void

+goNext(): void

+displayError(String str): void

+setReWrong(String reWrong): void
+getQuestion(): String
+setQuestion(String question): void

-jedis: Jedis

+setMsg(Message msg): Message
+searchByWord(String str, Word w): Word
+insertWord(Word w): boolean
+delWord(String word): boolean
+showList(): String[][]
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